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You may want to use the free calculator at desmos.com and the table function.

Complete each table to find the limit
v-) ll

19. lim -* - .bZ = '/,326+l xz-x-2

x L.9 r.99 L.999 2 2.00L 2.01 2.L

fk) t't1"16 , b3qq ,b33q ,aTb ? 2t52-T .7Lzt-t

20. lim fi+3-v3 -x)O x . LVS1

x -0.1 -0.01 -0.001 0 0.001 0.01 0.1

fk) , Lql .Lggc^ ,'?-bg1 .'l-61,\-7 ,LiTLt ,78(,3

21. lim sinr - \x+0x'

x -0.1 -0.01 -0.001 0 0.001 0.01 0.1

fk\ .\1sb I \ qqg q

t'' ls o

x -0.1 -0.01 -0.001 0 0,001 0.01 0.1

fk) r)5 .oo5 .0D06 -. O tjo5 -.00< -.ot
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